Doubling Time and Population Growth


The rate of national growth is expressed as a percentage for each country, commonly between about 0.1% and 3% annually. You'll find two percentages associated with population - natural growth and overall growth. Natural growth represents the births and deaths in a country's population and does not take into account migration. The overall growth rate takes migration into account.


For example, Canada's natural growth rate is 0.4% while its overall growth rate is 1.0%, due to Canada's open immigration policies. In the U.S., the natural growth rate is 0.6% and overall growth is 0.9%. The growth rate of a country provides demographers and geographers with a good contemporary variable for current growth and for comparison between countries or regions. For most purposes, the overall growth rate is the more frequently utilized.


The growth rate can be used to determine a country or region or even the planet's "doubling time," which tells us how long it will take for a country's current population to double. This length of time is determined by dividing the growth rate into 70. The number 70 comes from the natural log of 2, which is .70.

Given Canada's overall growth of 1% in the year 2000, we divide 70 by 1 (from the 1%) and yield a value of 70 years. Thus, in 2070, if the current rate of growth remains constant, Canada's population will double from its current 31 million to 62 million. However, if we look at the U.S. Census Bureau's International Data Base Summary Demographic Data for Canada, we see that Canada's overall growth rate is expected to decline to 0.6% by 2025. With a growth rate of 0.6% in 2025, Canada's population would take about 117 years to double (70 / 0.6 = 116.666).


The world's current (overall as well as natural) growth rate is about 1.3%, representing a doubling time of 54 years. We can expect the world's population of 6 billion to become 12 billion by 2054 if current growth continues. The world's growth rate peaked in the 1960s at 2% and a doubling time of 35 years.


Most European countries have low growth rates. In the United Kingdom, the rate is 0.2%, in Germany it's 0.3%, and in France, 0.4%. Germany and other European countries' natural growth rate is actually negative (on average, women in Germany give birth to 1.5 children, which is below the number to yield zero population growth, approximately 2.1 children). Germany's natural growth rate of -0.1 can not be used to determine doubling time because the population is actually shrinking in size. It's immigration that brings Germany's overall growth rate up to 0.3%, with a doubling time of about 233 years).


Many Asian and African countries have high growth rates. Afghanistan has a current growth rate of 3.5%, representing a doubling time of 20 years! If Afghanistan's growth rate remained the same (which is very unlikely and the country's projected growth rate for 2025 is a mere 1.8%), then the population of 26 million would become 52 million in 2020, 104 million in 2040, 208 million in 2060, 416 million in 2080, and 832 million in 2100. If population growth continued at the same rate for the following century, by 2200 Afghanistan's population would be 26.6 billion, which is more than four times the current world population - a ridiculous expectation. As you can see, population growth percentages is better utilized for short term projections.

Increased population growth generally represents problems for a country - it means increased need for food, infrastructure, and services. These are expenses that most high-growth countries have little ability to provide today, let alone if population rises dramatically.
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